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SS400 o y=235 o u= 400 a=13
H200 H-200x100x5.5x8-8 H B tw tf Zp
(cm) cm] 20 10 0.55 0.8 3.5 | 20511
1 M, 6144 IM, oM
2 $=039 | le=1140 M, 4.04 6548 > 62,661 OK
SS400 o y=235 o u= 400 a=13
H248 H-248x124x5x8-8 H B tw tf Zp
(cm) (cm)| 24.8 12.4 0.5 0.8 3.5 |311.63
1 M, 9523 =M, aM ,
2 $=035 le=16.20 M, 742 10266 > 95204 OK
SS400 o y=235 o u= 400 a=13
H250 H-250x125x6x9-8 H B tw tf Zp
(cm) cm| 25 12.5 0.6 0.9 3.5 | 358.14
1 M, 10845 =M, oM
2 $=042  le=16.20 M, 891 11736 > 10941 OK
SS400 o y=235 o u= 400 a=13
H298 H-298x149x5.5x8-13 H B tw tf Zp
(cm) (cm)| 29.8 149 0.55 0.8 3.5 | 475.06
1 M, 13827 IM, aM
2 $=039  le=21.20 M, 13.99 15226 > 14513 OK
SS400 o y=235 o u= 400 a=13
H300 H-300x150%6.5x9-13 H B tw tf Zp
(cm) cm] 30 15 0.65 0.9 3.5 |54211
1 M, 157.14  IM, aM
2 $=046  le=21.20 M, 16,53 17367 > 16561 OK
SS400 o y=235 o u= 400 a=13
H346 H-346x174x6x9-13 H B tw tf Zp
(cm) cm)| 34.6 17.4 0.6 0.9 3.5 | 712.49
1 1M, 21110  IM, oM,
2 S=042 | le=2580 M, 2260 23369 > 21767 OK
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SS400 o y=235 o u= 400 a=13
H350 H-350x175x7x11-13 H B tw tf Zp
(cm) ecm| 35 175 0.7 1.1 35 |[864.22
M, 26103 =M, oM,
$=049 | le=2580 M, 2636 28739 > 26402 OK
SS400 o y=235 o u= 400 a=13
H396 H-396x199x7x11-13 H B tw tf Zp
(cm) cm)| 39.6 19.9 0.7 1.1 35 [11143
M, 33711 =M, oM,
S$=049  le=3040 M, 36.60 373.71 > 3404 OK
SS400 o y=235 o u= 400 a=13
H400 H-400x200x8x13-13 H B tw tf Zp
(cm) cm)|__ 40 20 0.8 1.3 35 [13127
M, 40248~ IM, oM,
S=056 | le=3040 M, 4183 44431 >  401.02 OK
SS400 o y=235 o u= 400 a=13
H446 H-446x199x8x12-13 H B tw tf Zp
(cm) (cm)| _44.6 19.9 0.8 1.2 35 |[14227
M, 41456 =M, oM,
S=056  le=3520 M, 56.08 470.64 > 43465 OK
SS400 o y= 235 o u= 400 a=13
H450 H-450x200x9x14-13 H B tw tf Zp
(cm) (cm)| 45 20 0.9 1.4 35 |1651.7
M, 48832  IM, oM,
S$=0.63 | le=3520 M, 63.09 551.41 > 50459 OK
SS400 o y=235 o u= 400 a=13
H496 H-496x199x9x14-13 H B tw tf Zp
(cm) (cm)| _49.6 19.9 0.9 1.4 35 |1869.2
M, 537.14  IM, oM,
$=063 | le=39.80 M, 8066 61780 > 57103 OK
SS400 o y=235 o u= 400 a=13
H500 H-500x200x10x16-13 H B tw tf Zp
(cm) cm)| 50 20 1 1.6 35 ]2129.9
M, 61952 =M, oM,
S$=0.70 | le=39.80 M, 89.63 709.15 > 65068 OK
SS400 o y=235 o u= 400 a=13
H596 H-596x199x10x15-13 H B tw tf Zp
(cm) (cm)| 59.6 19.9 1 1.5 35 | 2575.8
M, 69371 =M, oM,
S$=0.70 | le=49.60 M, 139.20 832.91 > 78691 OK
SS400 o y=235 o u= 400 a=13
H600 H-600x200x11x17-13 H B tw tf Zp
(cm) cm)| 60 20 1.1 1.7 35 |2903.8
M, 79288  IM, oM,
$=0.77 | le=49.60 M, 153.12 94600 > 88711 OK
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SS400 o y= 235 o u= 400 a=13
M340 H-340x250x9x14-13 H B tw tf Zp
(cm) cm| 34 25 0.9 14 35 [1382.2
1 M, 45640 IM, aM |
2 S$=0.63 | le=2420 M, 29.82 486.22 > 42227 OK
SS400 o y= 235 o u= 400 a=13
M390 H-390x300x10x16-13 H B tw tf Zp
(cm) cm| 39 30 1 1.6 35 [2141.2
1 M, 71808 IM, aM |
2 S$=0.70 | le=28.80 M, 46.93 765.01 > 654.12 OK
SS400 o y= 235 o u= 400 a=13
M440 H-440x300x11x18-13 H B tw tf Zp
(cm) cm)| 44 30 1.1 1.8 35 |2756.5
1 M, 91152  IM, oM,
2 $=0.77 | le=3340 M, 69.43 98095 > 84212 OK
SS400 o y= 235 o u= 400 a=13
M482 H-482x300x11x15-13 H B tw tf Zp
(cm) (cm)| 48.2 30 1.1 15 3.5 | 2695.7
1 M, 84060 M, aM
2 S=0.77  le=38.20 M, 90.82 931.42 > 82354 OK
SS400 o y=235 o u= 400 a=13
M488 H-488x300x11x18-13 H B tw tf Zp
(cm) (cm)| 48.8 30 1.1 1.8 3.5 | 31322
1 (M, 101520 =M, aM
2 S=0.77  le=38.20 M, 90.82 1106.02 > 956.89 OK
SS400 o y=235 o u= 400 a=13
M582 H-582x300x12x17-13 H B tw tf Zp
(cm) (cm)| 58.2 30 1.2 1.7 3.5 | 38217
1 (M, 115260 IM, aM
2 S=0.84  le=47.80 M, 155.13  1307.73 > 11675 OK
SS400 o y=235 o u= 400 a=13
M588 H-588x300x12x20-13 H B tw tf Zp
(cm) (cm)| 58.8 30 1.2 2 3.5 | 4348.2
1 (M, 136320 IM, aM
2 S=0.84  le=47.80 M, 155.13 1518.33 > 13284, OK
SS400 o y=235 o u= 400 a=13
M700 H-700x300x13x24-18 H B tw tf Zp
(cm) em| 70 30 1.3 2.4 35 [6338.3
1 (M, 194688 IM, aM
2 S=091  le=58.20 , M, 249.15  2196.03 > 1936.4, OK
SS400 o y=235 o u= 400 a=13
M800 H-800x300x14x26-18 H B tw tf Zp
(cm) cm| 80 30 14 2.6 3.5 |8098.4
1 (M, 241488 M, aM
2 S=0.98  le=67.80 , M, 364.13 2779.01 > 24741 OK
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